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QID : 1001 - Select the related word from the given alternatives.
Rain : Water :: Hail : ?
fau T fawent & § W6t wsg &1 gl

IR : Ut e : ?
Options:

1) Vapour

Il

2) Storm

et

3) Cold

38

4) Ice

Correct Answer: Ice

Candidate Answer: Storm
et

QID : 1002 - Select the related letters from the given alternatives.
FHJ:CEG::LNP:?

feu e fawedt & § el siert 31 gl
FHJ:CEG::LNP:?

Options:

1) IKM

2) HIL

3) NPR

4) RTV

Correct Answer: IKM

Candidate Answer: IKM

QID : 1003 - Select the related number from the given‘alternatives.
1/4:-1/2::-1/10:?

faw g foeett # @ Haifdd S &1 ghuy
1/4:-1/2::-1/10:?

Options:

1)-1/5

2) 1/20

3)1/5

4)-1/20

Correct Answer: 1/5

Candidate Answer: 1/5

QID : 1004 - Select the odd word from the given alternatives.

fau T fawent & ¥ fawd weg &1 gMu|

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c
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Options:
1) Professor

2). Postgraduate
HATTBRR

3) Graduate
Hlddh

4) Master
HRK

Correct Answer: Professor

Candidate Answer: Professor

QID : 1005 - Select the odd letters from the given alternatives.

fow e fowent & 9 faww iRt & gful
Options:

1) BFJ

2) KOS

3) TXB

4) GIK

Correct Answer: GIK

Candidate Answer: GIK

QID : 1006 - Select the odd number from the given alternatives.

fau T et § A v e @) gl g’
Options: (
1) 144 o

2) 225 o

3) 157

4) 256 e R

Correct Answer: 157 { \
‘ y

Candidate Answer: 157

QID : 1007 - A series is given, with one word missing. Choose the correct alt the given ones that will complete the series.

Parrot, Other, Eruption, Onset, Etcetera, ?
T 3 H o T ], o te wee g 71 fou T fawed A @

Parrot, Other, Eruption, Onset, Etcetera,
Options:

1) Suavely

2) Lagging

3) Holding

4) Ransom

Correct Answer: Ransom

Candidate Answer: [ NOT ANSWERED ]

S 3HH B I

QID : 1008 - A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.?
AAAAAAAB, BAAAAAAB, BAAAAABB, BBAAAABB, BBAAABBB, ?

T 3 Y faam ma B, o v ue gw 71 A MU faw e § ¥ 95 Wl fawew g o oy &l w1 |

AAAAAAAB, BAAAAAAB, BAAAAABB, BBAAAABB, BBAAABBB, ?

Options:

1) BBABBBB

2) BBBAAABBB

3) BBBBBBBB

4) BBBAABBB
Correct Answer: BBBAABBB
Candidate Answer: BBBAABBB

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c
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QID : 1009 - A series is given, with one number missing. Choose the correct alternative from the given ones that will complete the series.
1.4,2.2,?,3.8,4.6
TP 3 foan T 8, forw ue W gw 31 fou Y fawmedt & @ a8 Wl fawed g S S H & Oy |

1.4,2.2,?,3.8,4.6
Options:

1)2.8

2)3.2

3)3

4) 34
Correct Answer: 3
Candidate Answer: 3

QID : 1010 - Parinaaz's birthday is on Saturday 20th April. On what day of the week will be Kiara's Birthday in the same year, if Kiara was born on sth September?

RATS ST SHAfe 29 ofid, faT IHaR &1 81 afg farary &1 57 5 Ridar &1 gor o1, @ 3 af iRy &1 safes e & frg fa grme
Options:

1) Wednesday

FYAR

2) Friday

RhdR
3) Tuesday
HITAdR

4) Thursday a
Correct Answer: Tuesday (’\ Rttt

HITAAR
Candidate Answer: [ NOT ANSWERED ] ~\ 4

;g;nnot % the total weight, in kilograms, of any combination of these boxes

p

QID : 1011 - The weights of 4 boxes are 30, 90, 80 and 20 Kg. Which of the fo
and in a combination a box can be used only once?

IR I BT goi 30, 90, 80 3R 20 b3, B 1 e & ¥ it &
TR AT T T S Yebal 82
Options:

1) 220

2) 200

3) 190

4) 210

Correct Answer: 210
Candidate Answer: 210

o, framms & S I1 T8Y 81 Tobd § 3R Teh JaIoM | U 999 T &1

QID : 1012 - From the given words, select the word which cannot be formed using the letters of the given word.
COGENTLY
FafRad fawedl # ¥ 98 sg gMT S faT 7T Weg & 3HERT BT TIRT B A8l ST off FohelT|

COGENTLY
Options:

1) CLONE
2) GENTLY
3) CLUNG
4) CENT

Correct Answer: CLUNG
Candidate Answer: CLUNG

QID : 1013 - If MESTIZO is coded as KCQRGXM, then how will YAK be coded as?

Ifd MESTIZO &' fet FH1s T KCQRGXM e ST 8, oY YAK & St i & at ferar Smaeme

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 3/53
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Options:
1) WYl

2) YKS
3) TYL

4) IFG
Correct Answer: WYI
Candidate Answer: WYI

[T} gt

QID : 1014 - In a certain code language, '+' represents 'x', '-' represents '+', 'x' represents '+' and '+' represents '-'. What is the answer to the following question?
9x3+12+5-24="?
forddt P HTWT H, '+ T AW 'x' 8, ' T HIAS '+' B, 'x' BT A '+' § IR '+' &1 Adas - g1 Fuffead vy o1 S w82

9x3+12+5-24="?
Options:

1)-33

2)3

3)39

4) 69

Correct Answer: -33
Candidate Answer: -33

QID: 1015 - If 17$5 = 11, 3$21 = 12, 2$4 = 3 then what is the value of 42$6 = ?

Tfe 1745 = 11, 3$21 = 12, 2$4 = 3 T 42$6 = ? & TH T A2
Options:

1) 24

2)22

3)57

4) 76

Correct Answer: 24

Candidate Answer: [ NOT ANSWERED ]

QID: 1016 -

Select the missing number from
the given responses

few a0 [{pedal 7 &

&I giAv|
2 |15]|6
316 |8
4 |7 |9
17?215

%p;ions:

2) 4

3)18

4) 10

Correct Answer: 4
Candidate Answer: [ NOT ANSWERED ]

QID : 1017 - Two motorcyclists P and Q start from the same point. P rides 17 km West, then turns South and rides 11 km, then turns to his right and rides 10 km.
Q rides 20 km South, then turns to his right and rides 27 km. Where is Q with respect to P now?

&l MeREied GaRr P 3R Q UH & fig § & oxd &1 P 17 fb. 1. ufd o1 3R qart &= &, R afr &) 3R g5 orar § oiR 11 o1, gart =ar g, fhe et
m%ah?agﬁrg%sﬁuo%.tﬁ.aﬁmm% Q 20 for. 78, SR Bt SR FaRY TR &, B ot 3TE 3R gs o B &R 27 .. Bl Ga R 81 P Y U ¥
3§ Q BBl IR 7

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 4/53
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Options:

1) 9 km North
9 for. . I
2) 31 km South
31 for. o, gfamn
3) 31 km North
31 fo . I
4) 9 km South
9 fos. 1. gfgmr
Correct Answer: 9 km South
9 for.dt. fgmr

Candidate Answer: 9 km South

9 .41, aféror

Staff Selection Commision

QID : 1018 - In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be

at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement

No two-wheelers are motorcycles.

All motorcycles are bicycles.

Conclusion
Some two-wheelers are bicycles.

No motorcycles are two-wheelers.

Uy A 3 o A T § R om) ) sy 1 3R 11 Frrel T B 1 3mues) 9 § b 3 BU 9 @ 91 98
2 P e 7T s § @ Bi9-are -8 Ridd wu § oye gRI I8 Mo o1 gadl /994 €, aid BI1s gl

DY
DI 3 ufean aTe Miex AEfed e B

ot Aexarsford afied g1

fred
P < Ul aTe IRRied g
PIS Aledsihd

[ 31 ufeaT are Tl &1

Options:

1) Only conclusion I follows
Fad ey 1 e 8

2) Only conclusion II follows
Fad frewy 11 98t §

3) Both I and II follow

N e 1 ofR 11 et §

4) Neither I nor II follows

1 <t e 1 98t § A 8 fef 11

Correct Answer: Only conclusion II follows

Fad ey 11 I8 §

F

Candidate Answer: Only conclusion II follows

PHad sy 11 JE §

QID: 1019 -

Which of the following cube in the answet
figure cannot be made based on the unfolded

cube in the question figure?

fAFAaf@d et 3nehfa & & @l ar ua
few v gea IRl & & g ww &

FATAT 6T ST Gehal?

©

O

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c
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Options:
1)

2)

0

Correct Answer:

Candidate Answer: [ NOT ANSWERED ]

QID : 1020 -
In the following figure, square represents Translators,

triangle represents Exporters, circle represents

Professors and rectangle represents Fathers. Whi
of letters represents Translatorsand E
also Professors?

frafafaa sl A, o sepEe
el FF gatar §, aed SeheRl @
et 1 gefar &1 HerT 1 &1 @1
Frafast ®r gufar 3t sesew of #7

Options:

1) F,GH

2)ECD

3)AC

4)B,F

Correct Answer: A,C
Candidate Answer: A,C

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c
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QID: 1021 -

Which answer figure will complete
the pattern in the question figure?

fFrfaf@a # & sla-dr sear 3l g
i & gfae @1 @@ wE?

Options:

1)

Correct Answer:

Candidate Answer:

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c
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QID : 1022 -
From the given answer figures, select the

one in which the question figure is
hidden/embedded.

& % 3o Ingfadt # & 37 Ipla # g
St we ansfa fafea 8

Options:
1)

2)

3)

4)

Correct Answer:

o

Candidate Answer:

O

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 8/53
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QID: 1023 -
A piece of paper is folded and punched as shown below

in the question figures. From the given answer figures,
indicate how it will appear when opened.

ee Jpfort 3 R IR FEre
Az 3EH O A dYT Wee &F 9I¢ 98
fore 3ear I St fers gam?

T
|

QO™
Correct Answer:

o0
8] 'e)

Candidate Answer: [ NOT ANSWERED ]

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 9/53
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QID : 1024 -
If a mirror is placed on the line MN, then
which of the answer figures is the right image
of the given figure?
fg v gdor F MN Y@ W @1 & @ &
Ieax Impfordl 7 @ A sl wea s
F wor wiafEr gef?
M

4

N

Options:

5
%

2

)
3)

V
V
S

Correct Answer:

hl

Candidate Answer:

hl

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 10/53
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QID: 1025 -

A word is represented by only one set of numbers as given
in any one of the alternatives. The sets of numbers given in
the alternatives are represented by two classes of alphabets
as shown in the given two matrices. The columns and rows of
Matrix-I are numbered from 0 to 4 and that of Matrix-II are
numbered from 5 to 9. A letter from these matrices can be
represented first by its row and next by its column, for
example 'K' can be represented by 20, 43 etc and 'Z' can be
represented by 65, 69 etc. Similarly, you have to identify the
set for the word 'TUBE'.

U e Fdel U HCU-HAG SanT &A™ a1r g, o i
fawedt & & o v & r mar &) fewedt # RGu o
HE-EAE HEWT & & @9t ganr gv A g o R Rw
AT E HWEPE A gl ARl F wew AR 9fa & wer
0 & 4 3R rege-ll & 5 & 9 &l 39 Heggl ¥ TH IR
&I UG 3HHT Uld AN I H FFA T @RI S ST
T &1 3geRUT & AT 'K & 20, 43 e g@RT gREr S
HHAT & @Ur 'Z° & 65, 69 HIE gaRT AR ST Hehar ¢l
s aF ¥ TR e F R o TUBE' & Rw g & O

garaT gl
Matrix | Matrix Il
® -1 HTE -1l

gIDrﬂEH_ﬁ
E Qoo | 6| w

Bw(N(=|o
Qirl=ro o
o6 (2|r|n

= mis

Options:
1) 40,20,56,55

2) 32,00,56,89
3) 11,41,78,67

4)97,75,01,11
Correct Answer: 97,75,01,11
Candidate Answer: 97,75,01,11

QID : 1026 - What least number must be added to 728, so that the sum is completely divisible by 11?

728 B B Tt AqH W B ST ST 1R, aifde AR 11 F gula: faursa g
Options:

1)9

2)7

3)5

4)3

Correct Answer: 9

Candidate Answer: 9

QID : 1027 - Acan do 2/3of a job in 18 days and B can do 1/3'd of the job in 18 days. If they work on it together, in how many days can they do half of the job?

A 18@‘3%?@1167[ 2/3 VT QX1 R GHl § SR B 18 faAT & S 7 1/3 YT GRT &R Tehell 51 A I SH R U 1Y HTH R & f 3 fb famA | BT BT ST T
R HR ?

Options:

1) 12

2) 15

3)9

4)18

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 11/53
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Correct Answer: 9
Candidate Answer: [ NOT ANSWERED ]

QID : 1028 - What is the area (in sq cm) of an equilateral triangle of side 16 cm?

16 T4, Yo Id JHEE FYS &1 &= (arf I, T) T F?
Options:

1) 128V3

2) 643

3) 32v3

4) 96V3

Correct Answer: 64V3
Candidate Answer: 64v/3

QID : 1029 - What is the effective discount (in %) of two successive discounts of 10% and 40%?

10% 3IR 40% B! TTAR &l BT (% H) BT THTET Fe fha-t grfle
Options:

1) 50

2)36

3)55

4) 46

Correct Answer: 46

Candidate Answer: 46

QID : 1030 - Profit of Rs 49,800 has to be divided between three partners A, B and C in the ratio 4:7:9. How uc{ does B (in Rs) get?

49,800 ¥ &1 WY I HIHGRT A, B 3R C & &4 4:7:9 & 3 # A fvan <1 €1 B 1 b1l (% éam }
Options: :

1) 17430 -_— N\
2) 9960 ( 3

3) 18450

4) 22410 f{/ \;\
Correct Answer: 17430 :

Candidate Answer: 17430 < /'

QID : 1031 - The average weight of P, Q and R is 84 kg. If the average wei
of Q?

P, Q 3R R T 3id aoi 84 fH. 7M. B1 3R P 3iR Q T 3n9d
Options:

1) 65

2)75

3)70

4) 80

Correct Answer: 70

Candidate Answer: [ NOT ANSWERED ]

QID : 1032 - A shopkeeper by selling 9 items, earfis @ profit equal to the selling price of 1 item. What is his profit percentage?

TH GHMER 9 T IR 1 I F 3! T & SRIGR A1 HHIAT § | IHDBT a1 Ui faen g2
Options:

1) 25

2) 12.5

3)20

4)10

Correct Answer: 12.5

Candidate Answer: 12.5

QID : 1033 - What is the value of 16% of 25% of 400?

400 & 25% T 16% BT A T 82
Options:

1) 16

2)8

3) 40

4) 160

Correct Answer: 16

Candidate Answer: 16

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c

Q 3R R &1 75 fb.m. 8, @ Q &1 aui (fb.7m. /) fpa 82

be 86 kg and that of Q and R be 75 kg, then what is the weight (in kgs)
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QID : 1034 - To cover a distance of 90 km in 1 hour 15 minutes what should be the average speed of the car in meters/second?

90 fr. . &1 g&t 1 °e 15 firfe B gt FA & forw wR &t ex/Adhe & Sid wifa foratt g+t anfewe
Options:

1) 10

2) 15

3)20

4) 25

Correct Answer: 20

Candidate Answer: 20

QID : 1035 - In 3 years at simple interest the principal increases by 24%. What will be the compound interest (in Rs) earned on Rs. 5,000 in 2 years at the same
rate?

3 N # QIR ST WR T 24% % 9 o1l 3|1 I &R W 5,000 T TALA TR 2 I 7 (ffd Thgla <o (3 o) e g
Options:

1) 725

2) 840

3) 832

4) 816

Correct Answer: 832

Candidate Answer: [ NOT ANSWERED ]

QID : 1036 - If 5x/6 - (4/3)(2 - 3x/2) = 1/3, then what is the value of x?

3R 5x/6 - (4/3)(2 - 3%/2) = 1/3 &, Tl x BT AF T 8?2
Options:

1) 17/18

2) -18/17

3) 18/17

4)-17/18

Correct Answer: 18/17

Candidate Answer: 18/17

QID : 1037 - If a3 + b3 = 28 and ab = 3, then what is the value of a + b?

\

g ad+b3=283Rab=38, Ma+bHTATRNE?
Options:

1)2

2)4

3)9

4)3

Correct Answer: 4
Candidate Answer: [ NOT ANSWERED ] *

QID : 1038 - Thrice a fraction is greater than its reciproc hat is the fraction?

T i &1 7 Ton 39 T % ogerd I 46/7 Sel © | (48 @ 87
Options:

1)7/3

2) 3/7

3) 5/4

4) 4/5

Correct Answer: 7/3
Candidate Answer: [ NOT ANSWERED ]

QID : 1039 - What is the sum of the first 13 terms of an arithmetic progression if the 5t term is -2 and the 8t term is 7?

TR U7t F UEA 13 UST BT AN 1 § fe; Uit Ug -2 3R 3Medl Ug 7 82
Options:

1) -61

2)52

3)-15

4)72

Correct Answer: 52

Candidate Answer: [ NOT ANSWERED ]

QID : 1040 - What is the reflection of the point (-2, 5) in the line x = 1?

X x = 19 fdg (-2, 5) &1 ufafss 7 82

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 13/53
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Options:

1)(4,-5)

2)(4,5)

3)(-4,-5

4)(-4,5)

Correct Answer: (4, 5)

Candidate Answer: [ NOT ANSWERED ]

QID : 1041 - Point P is the midpoint of segment AB. Co-ordinates of P are (-5, -2) and A are (-2, 0). What are the co-ordinates of point B?

g P @ AB &1 7w fiig &1 P & FIdwiss (-5, -2) 3R A & Fidwiies (-2, 0) ¥1 g B & Fidwiep @ &2
Options:

1) (-8,-4)

2)(-8,4)

3) (8 -4

4) (8,4)

Correct Answer: (-8, -4)

Candidate Answer: (-8, -4)

QID : 1042 - What is the slope of the line perpendicular to the line passing through the points (2, -5) and (4, 0)?

faigaii (2, -5) 3R (4, 0) | TR aTelt Y@ S eI TG BT A 182
Options:

1) -5/2

2) 2/5

3)-2/5

4) 52

Correct Answer: -2/5 L0 Ny
Candidate Answer: [ NOT ANSWERED ] )
Y e N\ ™ 4

QID : 1043 - AABC is similar to APQR. If ratio of perimeters of AABC : APQR is 3:5 and if PQ = (‘5 cm, t%n what is the length (in cm) of AB?

Options:

1)9

2) 10

3)12

4)8

Correct Answer: 9
Candidate Answer: 9

AABC, APQR & THEY B | Afe AABC : APQR & URHTT &7 SuTd 3:5 8 3R af PQ =, 15 ?Aﬁ%jﬁmaﬁ{aaﬁ @& dH T

-

QID : 1044 - What is the value of (v2) Sec

(V2) Sec 30° + (1/v2 )Tan 6Q° =?, Eakeiaica
Options:

1) 7/6

2) 5/V/6

3)5/6

4) 7/V6

Correct Answer: 7/V/6

Candidate Answer: [ NOT ANSWERED ]

QID : 1045 - A LMN is right angled at M. If mzN = 30°, then
Tan L x (1/2) CoseclL =?
A LMN M R JHHI0 81 T mzN = 30° ], &t

Tan L x (1/2) CosecL =?

Options:

1)2

2) 1/v/2

3)1

4)1/2

Correct Answer: 1

Candidate Answer: [ NOT ANSWERED ]

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c
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QID : 1046 - If Sin 6 = 12/37, then,

Staff Selection Commision

Cot0=7?
gfesine =12/378, @

Cot0 =7?
Options:
1) 35/12
2)12/35
3) 37/12
4) 35/37

Correct Answer: 35/12
Candidate Answer: 35/12

QID : 1047 -

The bar graph shows number of students of the four divisions (4, B, C,
D) of grade X who have passed in exams of Math and Science. Study the
diagram and answer the following questions.

T UTE ZEET wET i =7 RAFAT (A, B, C, D) & 3 S I = gl
& foreha nftra o fagm & odien o Sdivl fooan | 39 o & oA &

3R Ffefiad ueAl &1 SR €|
45
40
- a0
35
T :
x# b 25 25
H 5
R
Sk os =
TE w
2 5
o ; ; . 4
A . 3 D
Division / e
W paths/ Tofd m Science/fEaTT

In which division, the number of students who

g fedivm &, nfora o I<hiof gu faenfia
Options:

1)B

2)A

3)C

4)D

Correct Answer: B
Candidate Answer: [ NOT ANSWERED ]

those who passed in Science?

[ &t g & oifdes oft?

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 15/53
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QID: 1048 -

Staff Selection Commision

The bar graph shows number of students of the four divisions (4, B, C,
D) of grade X who have passed in exams of Math and Science. Study the
diagram and answer the following questions.

T T =TT T £ =T 2= (A, B, €, D) T 3 IE! & T afdr
& foreia miftra iR fagm oot odten o Swiivl famam | 9 o &1 e &t

IR FefaiRad usAl &1 3R &)
45|
- a0 =
| 35
EE 55-| s i
EG ::I 25 25 25
iy 2]
Bhows | i
EE m-i
z e |
vil : : : _
A s c 0
pivision / it
W paths/ Tofrg B Science/fEaTT

If division B has 50 students, how many students (in %) failed in Science?

gfe; f&de B & 50 BT §, o fagH & fba (% #) femdf fawa gwe
Options:

1) 40

2) 15

3)80

4) 30

Correct Answer: 80

Candidate Answer: [ NOT ANSWERED ]

QID : 1049 -

The bar graph shows number of students of the four,
D) of grade X who have passed in exams of Math
diagram and answer the following g

ATE ITF Tt T it =< B
¢ forgin nftra <R fagm ot odien
3R fEfafad usHl &1 SR &
i‘ ::: 35
E'E 30! 30 a0
Eg 25_! 25
i1
2 Eoas { =
EE -
el B B B
’ :hhhn,.ffh'm: ’
M paths/ TofE | Science/f&aTT

If division C has 40 students how many students (in %) passed in both the subjects?

e fEde ¢ 7 40 B 8, Y ST fawat # fram (% #) femdf S<hiof gwe
Options:

1) 75

2) 60

3)30

4) 40

Correct Answer: 75

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 16/53
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Candidate Answer: [ NOT ANSWERED ]

QID : 1050 -

The bar graph shows number of students of the four divisions (4, B, C,
D) of grade X who have passed in exams of Math and Science. Study the
diagram and answer the following questions.

T T THAT et $ =< Bdiwat (A, B, €, D) B 3 FE! & G gRidr
& forgla iftra 2R fasm= 1 udian # Idivl fooun | 39 3@ &1 32 &

IR Fefaied usAl &1 IaR &
a5 -
| 40
> 91 35
TEE .
i & ::_ b 5 25
I o]
TR 2
IEE 10 -
z -
o4 ! y ]
A B C ]
Division / ke
M paths/ =ofE m Science/fFaTT

If the top 20% of students who passed in Math and top 40% of those who passed in Science are to be aWarded
printed? =

gfe 7 & Il g9 arat < 209% SR fam & 3ol 89 are = 409 fenfat & vmmoes
Options:

1) 65

2) 23

3)42

4) 44

Correct Answer: 65

Candidate Answer: [ NOT ANSWERED ]

ificates, how many certificates need to be

PSR

QID : 1051 - In the following question, one part of th
corresponding to it. If the sentence is free frax

I want to show (1)/ people there is as muc
Options: ¥
1)1

2)2

3)3

4)4

Correct Answer: 2
Candidate Answer: 2

QID : 1052 - In the following question, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The whole family (1)/ would burst into (2)/ peals for laughter. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: 3

QID : 1053 - The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
select the correct alternative and click the button corresponding to it.

Green Acres is a full-service restaurant as well as a club.
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Options:
1) happen
2) happenings
3) happening
4) happenstance
Correct Answer: happening
Candidate Answer: happening

QID : 1054 - In the following question, the sentence is given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

The tiny deer stood looking atthemwith__ eyes.
Options:

1) anxiously

2) anxiousness

3) anxiety

4) anxious

Correct Answer: anxious

Candidate Answer: anxious

QID : 1055 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Contemptuous
Options:

1) Flattering

2) Derisive

3) Extol

4) Tout

Correct Answer: Derisive

Candidate Answer: [ NOT ANSWERED ]

QID : 1056 - In the following question, out of the four alternatives, select the word 5|m|Iar |n m {mng che word given.
Scramble \§
Options: 4
1) Harmonise

2) Melee

3) Tabulate

4) Codify

Correct Answer: Melee
Candidate Answer: Harmonise

QID : 1057 - In the following question, out of , select the word opposite in meaning to the word given.

Contradiction

Options:

1) Concurrence
2) Dispute

3) Conflict

4) Discrepancy

Correct Answer: Concurrence
Candidate Answer: Concurrence

QID : 1058 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Resolute

Options:

1) Complacent
2) Adamant
3) Obstinate
4) Staunch

Correct Answer: Complacent
Candidate Answer: [ NOT ANSWERED ]

QID : 1059 - In each of the questions, four alternatives are given for the Idiom/Phrase. Select the alternative which best expresses the meaning of the
Idiom/Phrase and click the button corresponding to it.

Take something for granted

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 18/53
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Options:

1) Receive gifts and favours from others for your venture

2) Assume that something is true without questioning it

3) Borrow money and promptly forget to repay

4) Take something without permission but with knowledge of the person
Correct Answer: Assume that something is true without questioning it

Candidate Answer: Assume that something is true without questioning it

QID : 1060 - In each of the questions, four alternatives are given for the Idiom/Phrase. Select the alternative which best expresses the meaning of the
Idiom/Phrase and click the button corresponding to it.

Wild goose chase

Options:

1) A bird hunting trip where you hunt with the help of dogs

2) Have a great fun time with friends

3) Pursue something with half hearted interest

4) A frustrating or lengthy undertaking that accomplishes little

Correct Answer: A frustrating or lengthy undertaking that accomplishes little
Candidate Answer: Have a great fun time with friends

QID : 1061 - A sentence/a part of the sentence is bracketed. Four alternatives are given to the bracketed part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

He (struggle) to make ends meet.
Options:

1) was struggle

2) was struggling

3) are struggling 4
4) No improvement (
Correct Answer: was struggling ) \\

Candidate Answer: was struggling

1
}
/£

4

iven d6'the, .b\agketéld part which will improve the sentence. Choose the correct

QID : 1062 - A sentence/a part of the sentence is bracketed. Four alternatives are
. qfick the §uﬁon corresponding to "No improvement".
7

alternative and click the button corresponding to it. In case no improvement is ne

Every person (have to go) through different stages in life.
Options:

1) has to go

2) togo

3) is going

4) No improvement
Correct Answer: has to go

Candidate Answer: has to go

QID : 1063 - Out of the four alternatives, choose th substituted for the given words/sentences and click the button corresponding to it.

Understand a difficult problem after much thought
Options:

1) Fathom

2) Confound

3) Obscure

4) Perplex

Correct Answer: Fathom

Candidate Answer: [ NOT ANSWERED ]

QID : 1064 - Out of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Widespread disgust incurred by someone as a result of their actions.
Options:

1) Affection

2) Exaltation

3) Exoneration

4) Odium

Correct Answer: Odium

Candidate Answer: [ NOT ANSWERED ]

QID : 1065 - Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) hazzardous

2) hazardouse

3) hazzardouse

4) hazardous

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 19/53
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Correct Answer: hazardous
Candidate Answer: hazardous

QID : 1066 - Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) impassive

2) impasive

3) impasseve

4) impaseve

Correct Answer: impassive

Candidate Answer: impassive

QID : 1067 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

After being exposed to a

X-diet also spent more time in
Y-rapid-eye-movement (REM) sleep
Z-stressor, the rats on the prebiotic
Options:

1) YzZX

2) YXZ

3) Xzy

4) ZXY

Correct Answer: ZXY f
 :

Candidate Answer: XZY

/f' N
QID : 1068 - The question below consists of a set of labelled sentences. Out of the four options given, ?élect thé\m t logical order of the sentences to form a
coherent paragraph. }

4 //
Art has many uses
X-to beautify and
Y-force viewers to ponder s
Z-and sometimes it can be used
Options:
1) ZXY
2) YZX
3) YXZ
4) Xzvy
Correct Answer: ZXY

Candidate Answer: ZXY

\\
)

M\

¢;’/

\\»M'/

in A

QID : 1069 - In the following question, a sent:
expresses the same sentence in Passive / Active

e / Passive voice. Out of the four alternatives suggested, select the one which best

The doctor shall have examined ten patients by 10
Options:

1) Ten patients will have being examined by 10:0°clock by the doctor.

2) Examination of ten patients was being done by'the doctor by 10 O'clock.

3) Ten patients will have been examined by 10 O’clock by the doctor.

4) Examination of ten patients shall have been done bythe doctor by 10 O'clock.
Correct Answer: Ten patients will have been examined by 10 O’clock by the doctor.

Candidate Answer: Examination of ten patients shall have been done by the doctor by 10 O'clock.

QID : 1070 - In the following question, a sentence has been given in Direct / Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect / Direct speech.

“That is the best part.” she told them.
Options:

1) She told them that that is the best part.
2) She tells them that that was the best part.
3) She tells them that that is the best part.
4) She told them that that was the best part.

Correct Answer: She told them that that was the best part.
Candidate Answer: She tells them that that was the best part.

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c
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QID : 1071 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of
the four alternatives.

Science is all about details, precision, accuracy, and it is 99 per cent perspiration. The beauty and joy in doing science lies in those rare moments

the pieces of a puzzle magically come together. To adapt from Shelley, the shadow indeed becomes important than the substance. I
suppose one could put some of this together and disseminate a simplified, sanitised version to the public but in the end, science is a individualistic,
personal affair. Most honest scientists will tell you that they are ever so grateful that they are by their governments to do something that they would
have done anyhow for free.

Science is all about details, precision, accuracy, and it is 99 percent
Options:

1)in

2) indeed

3) into

4) inside

Correct Answer: indeed

Candidate Answer: in

QID : 1072 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of
the four alternatives.

Science is all about details, precision, accuracy, and it is 99 per cent perspiration. The beauty and joy in doing science lies in those rare moments

the pieces of a puzzle magically come together. To adapt from Shelley, the shadow indeed becomes important than the substance. I
suppose one could put some of this together and disseminate a simplified, sanitised version to the public but in the end, science is a individualistic,
personal affair. Most honest scientists will tell you that they are ever so grateful that they are by their governments to do something that they would
have done anyhow for free.

science lies in those rare moments the pieces of a puzzle

Options:

1) then

2) than

3) when P
4) so

Correct Answer: when
Candidate Answer: when

»w“'"\

AN
st 4

Y y
QID : 1073 - In the following passage, some of the words have been left out. Re: ssag€ carefully and select the correct answer for the given blank out of

the four alternatives.

Science is all about details, precision, accuracy, and it is piration. The beauty and joy in doing science lies in those rare moments

the pieces of a puzzle magically come together. Jo ad S , the shadow indeed becomes important than the substance. I
suppose one could put some of this together and disseminate a niti§ed version to the public but in the end, science is a individualistic,
personal affair. Most honest scientists will tell you tha at they are by their governments to do something that they would
have done anyhow for free.

the shadow indeed becomes he substance.

Options:

1) to

2) more

3)as

4) so

Correct Answer: more
Candidate Answer: more

QID : 1074 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of
the four alternatives.

Science is all about details, precision, accuracy, and it is 99 per cent perspiration. The beauty and joy in doing science lies in those rare moments

the pieces of a puzzle magically come together. To adapt from Shelley, the shadow indeed becomes important than the substance. I
suppose one could put some of this together and disseminate a simplified, sanitised version to the public but in the end, science is a individualistic,
personal affair. Most honest scientists will tell you that they are ever so grateful that they are by their governments to do something that they would
have done anyhow for free.

scienceis a individualistic, personal affair.
Options:

1) highly

2) high

3) higher

4) highest

Correct Answer: highly

Candidate Answer: highly
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QID : 1075 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of
the four alternatives.

Science is all about details, precision, accuracy, and it is 99 per cent perspiration. The beauty and joy in doing science lies in those rare moments

the pieces of a puzzle magically come together. To adapt from Shelley, the shadow indeed becomes important than the substance. I
suppose one could put some of this together and disseminate a simplified, sanitised version to the public but in the end, science is a individualistic,
personal affair. Most honest scientists will tell you that they are ever so grateful that they are by their governments to do something that they would
have done anyhow for free.

they are ever so grateful that they are by their governments
Options:

1) to pay

2) being paid

3) pay up

4) paying

Correct Answer: being paid

Candidate Answer: being paid

QID : 1076 - Census in India is generally done after how many years?

HRA H SFRTUMT 3 IR R e a8 & T &1 ST 82
Options:

1) 10

2)2

3)5

4) 20

Correct Answer: 10

Candidate Answer: 10

QID : 1077 - Which Schedule of Indian Constitution deals with division of powers between the union an

e ST o B S o T o T 3 S iRk B R @ e 2
Options:
1) Sixth Schedule

the states?
> 4

W\
-

X

\\»M'/

2) Seventh Schedule
radt

3) Eighth Schedule
3t

4) Ninth Schedule

Correct Answer: Seventh Schedule

Candidate Answer: [ NOT ANSWERED ]

QID : 1078 - In which article of Indian constitution o

YR Hfau™ & e srwie § Udid i & U sauiel
Options:
1) Article 153
153
2) Article148

TE 148

3) Article 61

TG 61
4) Article 178
178

Correct Answer: Article 153

TS 153

Candidate Answer: [ NOT ANSWERED ]

vision of a Governor for each state?

P I 2?2

QID : 1079 - During the British rule in India Holt Mackenzie was known for

YR & e I & GRM giee Aol &t ¥ g ST v Tl
Options:
1) Mahalwari system

2) Ryotwari system

3) Permanent settlement
IR AR
4) use of English Language in Education

Rrem & STt HTST BT ITART
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Correct Answer: Mahalwari system

Candidate Answer: [ NOT ANSWERED ]

QID : 1080 - In which year was the historic Lucknow Pact signed?

o of 7 e aEe, THeEia )R gxer fhd e 32
Options:

1) 1910

2) 1916

3) 1920

4) 1919

Correct Answer: 1916

Candidate Answer: [ NOT ANSWERED ]

QID : 1081 - In which book were many of the Chanakya’s ideas written down?

U & Fs 9ER fH fbdre 7 fora e 22
Options:
1) Puranas

qRI0T
2) Rajatarangini

3) Arthshastra

3

4) Mahapravaas

ERIECIS]

Correct Answer: Arthshastra

3

Candidate Answer: Arthshastra
e

QID : 1082 - In which hemisphere does India lie?

YR fore mend & g2
Options:

1) Southern and Eastern
gfeoft qur gdf

2) Northern and Eastern
Fadt qur gdif

3) Southern and Western

gferoft qur ufdyedt

4) Northern and Western

IO ufdE

Correct Answer: Northern and Eastern

Fad) qur gdif

Candidate Answer: Northern and Easter’h‘

Fast aur gdf

QID : 1083 - Out of which sea the Himalayas were uplifted?

ferTaT fhd Tg ¥ FWR IS 72
Options:

1) Tethys Sea

g IR

2) Coral sea

HRA AR

3) Eural sea

PR AR

4) No option is correct

IS b T T 7
Correct Answer: Tethys Sea
g IR

Candidate Answer: [ NOT ANSWERED ]

QID : 1084 - The northern part of the western coast is called

T qe & I WM B HE o1l B
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Options:

1) Kannad Plain
IS A

2) Malabar coast
HIER d<

3) Konkan
Eacaui

4) Coromandel coast
dc

Correct Answer: Konkan

Candidate Answer: [ NOT ANSWERED ]

QID : 1085 - A wet, swampy and marshy region in the northern plain is called

I BeH B U T, SAGHd 9l HIaear & &l PEl ST 71
Options:

1) Bhabar

HIsR

2) Khadar

RCIGTY

3) Terai

4) Kankar
HdR

Correct Answer: Terai

Candidate Answer: Terai

QID : 1086 - 'Cape of Good Hope' is located in which country?

P 3 T[S U fhw 3w H fRya 82
Options:

1) India

HRd

2) South Africa

TIROT SIHT

3) Austrélia

4) §razi|

Correct Answer: South Africa
Candidate Answer: [ NOT ANSWERED ] *

QID : 1087 - Which of the following is not among the six ntrols of the climate in India?

Fraffad # ¥ $ 91 URd & Sdarg & 38 U@ Huaul # 8 Te T8 82
Options: ;
1) Latitude

3

2) Altitude

RECIN

3) Disturbance from the sea

REERERES]

4) Population

SEE

Correct Answer: Population

S

Candidate Answer: Population

EEREe]

QID : 1088 - In what ratio tea at Rs 240 per kg be mixed with tea at Rs 300 per kg so that on selling the mixture at Rs 336 per kg there is a profit of 20%?

240 % Ufd .7, areft ot ®F 300 % Ui o5, 71, arelt I fooe srgora & e SR dtfes 39 [y o 336 % Ui {5,301, TR 997 TR 20% &I A1 817
Options:

1)1:2

2)2:3

3)3:4

41:1

Correct Answer: 1: 2
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Candidate Answer: [ NOT ANSWERED ]

QID : 1089 - The force, which takes an angle area towards a page, is called

et gy & 1fd Ui Awhd R @ aTdt 9 Bl BT STl B
Options:
1) Gravitation force
9d
2) Magnetic force
TEHI T
3) Friction
T

4) Pressure

<old

Correct Answer: Pressure
]

Candidate Answer: Pressure
<ld

QID : 1090 - Whittaker classified organisims into how many kingdoms?

feTar gR1 Tofial &I fve sa (frew) & anffed farar mar ar
Options:

1)3

2)5

3)7

4)9

Correct Answer: 5
Candidate Answer: [ NOT ANSWERED ] (
Y i

QID : 1091 - What is the chemical formula of chloroform? ( 3

TR T TS G T &2 (/ \
Options: \ ;

1) CCly

2) CHCI3

3) CH4

4) CH3 OH

Correct Answer: CHCI3
Candidate Answer: CHCI3

\

QID : 1092 - The National Institution for Tr;in Aayog) launched National Nutrition Strategy aimed at

P YR TRad TR (A ST 7 1 3, e 32 2
Options: i
1) Rog Mukt Bharat
T g YRA
2) Kuposhan Mukt Bharat
Yad URd

3) Pradushan Mukt Bharat

Had YR
4) Shashakt Bharat
RIAd HRd

Correct Answer: Kuposhan Mukt Bharat
HUITT Gad HRd

Candidate Answer: Shashakt Bharat
HR[ad HRd

QID : 1093 - What is the name of world’s biggest and powerful nuclear powered icebreaker ship launched by Russia?

T gRT IEEd 53 T8 g & Jad 98 quT Afea=iel TiRATY] Iferd 9t i arel SgTet &1 ATH T 82
Options:
1) Arctic

2) Sibir
Rfer
3) Ural

R
4) Baltic
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Correct Answer: Sibir

Candidate Answer: Arctic

QID : 1094 - Who won men's single title of 2017 US Open tennis championship?

2017 JuH v 2 AfTafR & geut &1 ted (A e Siar
Options:

1) Rafael Nadal

e T

2) Kevin Anderson

i TexmH

3) HoriaTecau

4) Andy Murray
W

Correct Answer: Rafael Nadal
e TS

Candidate Answer: Rafael Nadal
M T

QID : 1095 - India and its which neighbouring country are counting tiger heads for the first time using same method recognized internationally?

HRA T JHHT P T TSI <N SHARIPIT TR R ARG W1 G Al 1 ST 3 STl ST ST BT 0T IR 36T 52
Options:
1) Bangladesh
SR

2) Bhutan

3) Pakistan 7N
e

4) Nepal
AU

Correct Answer: Nepal

\

Candidate Answer: Bangladesh

QID : 1096 - Carnatic vocalist T. M. Krishna won 30th Indira G j or, for 2015-2016.

FHifed TMaw <. T, FOM A % form 6 St Tl
Options:

1) Public Welfare

S DTl

2) National Integration
T Tl

3) Economic Development

4) Literature

Correct Answer: National Integration
T T

Candidate Answer: National Integration
T TRl

QID : 1097 - What is India’s rank in World Bank’s Ease of Doing Business Report, 2018?

qeE 9 397 3t T e ROie, 2018 F YRT &7 71 ”IF 72
Options:

1) 130

2) 100

3) 80

4) 60

Correct Answer: 100

Candidate Answer: 130

QID : 1098 - India became the 71st country to ratify which of the following Conventions?
HRA Fefarad § § f5g w-awe &) Ty A aren 71 af 3% 99 T 82

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c
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Options:
1) United Nations TIR (Transports Internationaux Routiers)

T Y MR (TRAUICH SRR JfCTH)

2) Ramsar
RHIAR
3) The British House of Commons

ot 3139 oflth B (forc B ¥4g)

4) Newfoundland National Committee

Correct Answer: United Nations TIR (Transports Internationaux Routiers)
T Y ASMEIAR (TFAUEY SRR AT
Candidate Answer: [ NOT ANSWERED ]

QID : 1099 - The Union Government of India has launched which project to ensure conservation of Himalayan ecosystem?

YRA WHR 7 fgarerht mifRufae a1 &1 TRemn gRd 37 & e o1 9 afkdem g @ 82
Options:
1) SECURE Himalaya

fewTera

2) SAFE Himalaya

GEAREISE

3) SOFT Himalaya

e fgare

4) SUSTAIN Himalaya

e feuraa

Correct Answer: SECURE Himalaya
IEIN

Candidate Answer: [ NOT ANSWERED ]

QID : 1100 - Commemorative coins of Rs. 100 and Rs. 10 denomination were released on 101st Blrth C tenar))f noted Dr. MS Subbulakshmi.

AT 31mg@a@%mﬁmﬁa@rmmooammo%mﬁrﬁmm
Options:
1) Carnatic Musician

2) Economist
et
3) Actor

4) Director
Correct Answer: Carnatic Musician

Candidate Answer: Economist
31!

QID : 1101 - A copper wire is 3 meter long and has a uni
is the resistivity of the material?

e 18 BT IR 3 Hiex a1 8 3R 0.6 & 1.7t &1 Ueb GHIH H1Y-Ya=H 81 FHR P 00 W, IR BT UR1Y 0.183 31 g1 gardf ) uferierssdr . 82
Options:

1) 3.06 x 108 Qm

2) 3.66 x 108 Qm

3)3.26 x 104 Qm

4)3.23 x 10° Qm

Correct Answer: 3.66 x 108 Qm

Candidate Answer: 3.66 x 108 Qm

s-section of 0.6 square mm. At room temperature, the resistance of the wire is 0.183 ohms. What

QID : 1102 - In order to cover a large area of a dielectric medium, the capacitance should be

SRS HIHH & § &F B U H1 & fog, Juifa ERIEIRY|
Options:

1) Very high

dgd 3«

2) Low

HH

3) Zero

4) Extremely low
983 HH
Correct Answer: Very high
9gd 3=
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Candidate Answer: Zero

T

QID : 1103 - An LED made using GaP emits radiation in

Shudt @) Heg A o TEs @1 R H Ieaffd g 3|
Options:

1) Visible region

X &=

2) Ultraviolet region
3) Infrared region

4) Green radiation

Correct Answer: Green radiation
B ez &

Candidate Answer: Visible region

QID : 1104 - What type of chemical bonding is present in a germanium semiconductor ?
T ST srefarass B 5y UHR &1 I9rafE de Ji5g 87

Options:

1) Metallic

Urg

2) vaalent

3) Chemical

RERIEET

4) Ionic / -
e (

Correct Answer: Covalent {/“ |\ -

Can}iidate Answer: Covalent

\

QID : 1105 - Which capacitor has the maximum capacitance per unit vol

DI I TR U Sp18 A B Sy Feme 82

Options:

1) Air capacitor

g dehea

2) Mica capacitor

Y HeTRA

3) Ceramic capacitor

I gt &1 defex

4) Electrolytic capacitor

fagad - smaeHT U

Correct Answer: Electrolytic capacitor
- 3He 9

Candidate Answer: Air capacitor

arg g
QID : 1106 - Consider the following semiconductor diodes:

(i). Germanium diode

(ii). Silicon diode

(iii). Schottky diode

(iv). Tunnel diode

The correct sequence of forward voltage drop in the decreasing order is:

fFafafed siderde sHis R R &%

(i) SHATH sETS

(i) RiferepT srs

(iii) ThicwH! SRS

(iv) &1 SIS

ed w9 B 3 dices 1T &l Igt A &
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Options:

1)1,3,24

2)1,234

3)34,2,1

4)2,3,1,4

Correct Answer: 2,3,1,4
Candidate Answer: 2,3,1,4

QID: 1107 -
The zener diode in the circuit has a zener breakdown wvoltage of 5 Vol .

Calculate the power dissipation in the resistance Rs.

Fffz #F 3T ST0E ¥ 5 IeT T AT IFEEA Teed 2| wiady Re' F faeeh

FHTSAT B T Y| R,=2000

+ VA

=50 mA

=
-]

30V i

-

Options:
1)0.5W

2)1wW
3)3.125W

4)3W
Correct Answer: 3.125 W
Candidate Answer: 0.5 W

QID : 1108 - A diode when connected in series with the output, then the circuit s, c

I T SIS Ufbe Ay A JeTgene, Aagu®__ uRuyg |
Options:
1) Limiter

BiEa
2) Series clipper
DD HaRD

3) Parallel Clipper

AR HdReh

4) IC voltage regulator
e

Correct Answer: Series clipper
DD

Candidate Answer: IC voltage regulator

MY e e

QID : 1109 - A device is referred to as the linear device when the graph between the current and voltage across the device is a

TS IUBR B! Qb JUBRUN b TY F T ST 3, Sd JUBRU § fagad ¥R iR diees] b st o1 A6 Enik

Options:
1) Exponential

2) Non-exponential
3) Straight line
et

4) Constant

Correct Answer: Straight line

et T

Candidate Answer: Straight line

et Y@

QID : 1110 - Calculate the hall voltage when the magnetic field is 8 A/m, current is 4 A, width is 5 m and the concentration of carrier is 100000.

BTel dicesl I UM B oid Yab 1T &7 8 A/m B, fIgad 4RT 4 A B, TeTs 5 Hiex § 3R 918 BT THRIT 100000 B
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Options:
1)4.125V
2)0.3125V
3)4.2V
4)04V

Correct Answer: 0.4V
Candidate Answer: [ NOT ANSWERED ]

QID : 1111 - Using which diode in a regulated power supply, the unregulated input voltage as compared to the regulated output voltage will be larger?

fafafia fagaa sl & frw srts &1 Sua =7 ¥ fafafta ffa aes &1 gamn & sifafia 399 aes se1 8
Options:

1) Plhoto diode

el SIS

2) p-n junction diode

Ui-u SiaRH TS

3) Zener diode

4) Gunn diode

T SRS

Correct Answer: Zener diode

IR SAS
Candidate Answer: p-n junction diode
T SaRE

QID : 1112 - Which region covers the highest area in a transistor?

DI 1 YT giforey & Ta ¥ &3 &Y Hax Bl 67
Options:
1) Emitter

2) Collector

3) Base f/ TN
SIUR \

4) Base-emitter
SMYR-TfHR
Correct Answer: Collector

\

Candidate Answer: Collector

QID : 1113 - What is the region of operation jon transfstor (BJT) where both the junctions are in forward biased?

Eﬁmﬁm(éﬁﬁ)%w?ﬂ&hw% 2
Options: .
1) Active region

2) Ohmic region
NP &F
3) Saturation region

4) Cut-off
Hc-3Hh
Correct Answer: Saturation region

Hqfe &=

Candidate Answer: Saturation region

QID : 1114 - Which among the following are the disadvantages of FET over BIT:
i. It has high input resistance

ii. It has a large bandwidth

iii. It is more noisy

iv. It only allows the flow of majority charge carriers

ot F goad UwEdl & 0 ¥ SH-519 ¥ JH9H 8T 8:
i. S I IYC Uiy §

i 3UP! TP TT S5y B

iii T 3fP TR 7

iv I8 $ad IgHd Yo ATGH P YA P SANT Al §
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Options:
1)1and 3
13R3
2)2and 4
23R 4
3)3and 2
28R 3

4) 4 only
&ad 4
Correct Answer: 4 only
Had 4

Candidate Answer: [ NOT ANSWERED ]

QID : 1115 - Which circuit takes the less chip area in large scale integration?

B 1 IRUY 93 JTM TR THIBR0 § HH =Y & 3T 22
Options:

1) TTL logic circuits

il gy

2) Bipolar circuits

fasyat ufkay

3) High power circuits

BTS UTaR URuy

4) CMOS circuits

R ufvay

Correct Answer: CMOS circuits
gRay

Candidate Answer: TTL logic circuits

<Ieud difore aRuy

QID: 1116 -
The JFET in the circuit shown in figure has an

I =20mA and ¥,=5V.The valucof the

resistance R, for a drain current, Jp; =12.8mA is

Ry F R @ see Wik F I =20 mA
HR v, =5V FASE 7 Regeur I =12.8 mA
¥ e sfada &1 H, €

+Vpp

Rs

Rg llds

Options:

1) 15.00Q

2) 47.23Q

3) 1kQ

4) 78.12Q

Correct Answer: 78.12Q

Candidate Answer: [ NOT ANSWERED ]
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QID : 1117 - Consider the following:

i. MOSFET can be used as a voltage controlled capacitor.
ii. MOSFET can be used both as a voltage and a current controlled inductor.

Fofafed wR o ffsa:

i Arehe diees afd Guila & w0 o ST a1 o 9T §
ii TiEhe & diced R fagad urT Fafid IR GF % U & gxamre fasar o w9 gl
Options:

1) (i) is True but (ii) is False

(i) & & b (i) 7T &

2) (ii) is True but (i) is False

(il) TS AP (i) e ©

3) Only (i) is true.

CERIOREN

4) Both (i) and (ii) are True

A (i) 3R (i) W €

Correct Answer: Only (i) is true.

»ad (i) FE1 &

Candidate Answer: Both (i) and (ii) are True

3 (i) SR (i) T B

QID : 1118 - The voltage gain of an amplifier without feedback and with negative feedback are 140 and 30 respectively. The percentage of negative feedback
(beta) is:

Bl & 977 3R FUTHS BISad $ I1Y Uh THNAHRR BT dleds Ay HHT: 140 3R 30 B HUTHD
Options:
1) 3%
2) 4%
3) 5%

{(;~ \
\\ '-"}
)

4) 2% h
Correct Answer: 3%
Candidate Answer: [ NOT ANSWERED ] {/' ;\’

7
hié desigﬁing a good power amplifier circuit?

QID : 1119 - What are the properties of a power amplifier that are to be conside

TTeR THRABRR 3 101 1§, e U ST UIR T AwsRR dfbe feemg

Options:

1) Distortion, gain and bias stabilization
faeur, @y SR gafig e

2) Frequency response

g gfcferar

3) Sensitivity

ST 82

4) All options are correct

uft fopew et §

Correct Answer: Distortion, gain and bias stabilization
o, @y ek

Candidate Answer: All options are correct

Tt fope UEt §

QID : 1120 - A tuned amplifier has a peak output of 9 MHz and quality factor of 90. What is the bandwidth of the tuned amplifier?

U oS THOHHRR # 9 TRTEES &1 T Ui f1id 3Tk 90 T U &1 BRE ¢ | oIS THTIhIER B SSagy T 82
Options:

1) 100 MHz

2) 100 kHz

3) 5.4 MHz

4) 6.05 MHz

Correct Answer: 100 kHz

Candidate Answer: 100 MHz

QID : 1121 - A common emitter transistor amplifier has a collector load of 40 k-Q, voltage gain is 400 and input resistance is 2 k-Q. Calculate the value of voltage
amplification of the amplifier.

gﬂﬁg@ﬂgﬁ&?@?ﬁwﬁm k-Q BT HAGeR TS BT §, 400 HT dlecsl A BIT 8 3R 2 k-Q F Y UfaRIY el 8| Tl iR & diees yaeH & A
O Y|

Options:

1) 500

2) 2000

3) 8000

4) 7500
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Correct Answer: 8000
Candidate Answer: 8000

QID : 1122 - Determine the number of different node pair voltages for a network with 9 nodes and 18 branches.

Jcgd P 9 Al 3R 18 TRANE B, o) fafte s Wit dieew o) Twem fRifa a3

Options:
1)7

2) 10
3) 45

4) 36
Correct Answer: 36
Candidate Answer: [ NOT ANSWERED ]

QID : 1123 - Which among the following theorems can be applied to any active or passive network?

o & 9 o4 a1 vdy fest i wfosg a1 ffSe Aead W any fran S w82
Options:
1) Thevenin’s theorem

2) Tellegen theorem
3) Superposition theorem
L)

4) Norton theorem

Correct Answer: Tellegen theorem

ESIRIER D

Candidate Answer: Thevenin's theorem

QID: 1124 -
80

v ____

. Os
The Norton equivalent between A ‘and B for the circuit is

ST E T T YT S ST eI TN T

Options:

1) 2 Aand 2 ohms

2 AR 2 3|

2)3.5A and 1 ohms
3.5A 3R 13

3) 0.41 A and 4.4 ohms
0.41 A 3R 4.4 3

4) 1 A and 2 ohms

1A 3R 2309

Correct Answer: 0.41 A and 4.4 ohms

0.41 A 3R 4.4 3
Candidate Answer: [ NOT ANSWERED ]

QID : 1125 - An RLC resonant circuit has a resonance frequency of 2.5 mHz and a bandwidth of 20 kHz. If capacitance is 115 pF, then effective resistance (in
ohms) of the circuit will be

T RO TorgdH Tfdhe & 2.5 mHz &1 Ufdeaf Smaft ofR 20 kHz ot Sefagy 81 afe Geria 115 pF g, o Ifde &1 murdh ufeRier (e ) g
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Options:

1) 29.5

2)4.7

3) 14.75

4) 2.66

Correct Answer: 2.66

Candidate Answer: [ NOT ANSWERED ]

QID : 1126 - The current at resonance in RLC series circuit is

SR sRgan gfhe B ufaaty w fagag urt AR B
Options:
1) Maximum

2) Minimum
GAdH
3) Zero

LA
4) Infinite
3d

Correct Answer: Maximum

Candidate Answer: Maximum

QID : 1127 - The SI unit of reactive power and apparent power are and respectively.

wafrarie T iR T e &7 THaMS 3B Ho: iR 2
Options:

1) VAR and VA
VAR 3R VA

2) kVA and VAR
kVA 3R VAR

3) VA and kV
VA 3R kV

4) kA and VA
kA 3R VA

Correct Answer: VAR and VA
VAR 3R VA

Candidate Answer: [ NOT ANSWERED ]

QID : 1128 - A parallel RLC circuit has 25 oh
total impedance, conductance and admittanqé

TP MR HRUH dfde & 25 shntrﬁiﬁw 10
O B3

nd a 2.5 WF capacitor connected in parallel across a 50 V, 100 Hz AC supply. Calculate the

WF e S 50 diee, 100 8E1 &1 3MYfd § ST §3i 81 ot UfaaneT, Hagdhd 3R UaT &

Options:

1)

15650, 40mSs
and 63.8m5

2)

10,659, 25mS
and 63mS

3)

156, 40,276 mS
and 63.2 mS

4)
12.65Q, 30mS
and 60 mS

Correct Answer:

15.65Q, 40mS
and 63.8m5

Candidate Answer: [ NOT ANSWERED ]
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QID:1129 -

Calculate the value of iy when resistance is
4 €) and voltage of each battery is 8 V

9 gei I 4 Q § AR 93w
Fer =T SRSV E, iy, AT F AT FY|

VWA VWA

2 T

Options:
1) 1.1456 A

2)0A
3) 0.074 A

4) 1.234A
Correct Answer: 0.074 A
Candidate Answer: [ NOT ANSWERED ]

QID: 1130 -
Find thevenin’s resistance across AB in the following circuit.

= wfve & A B % wroorw S3fE F ety (tw &) s aar

2000 ™ 2000t M
VWWW VWY
[ il(

Vv, < 2000 2000

Options:
1) 200

2) 400
3)0

4) 1000
Correct Answer: 1000
Candidate Answer: [ NOT ANSWERED ]

QID : 1131 - What does the superposition theorem determines when applied to a linear network?

YRR THg T Fyiika wrar 8 99 98 Y¥P Aead W AL gl 8?
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Options:

1) The current and voltage responds
fagad erT 3R

2) Only current responds

I fagad =T BT ufdichar
3) Only voltage responds
Had diecs 1 Uldopdl

4) The power responds

fagad e &t gfdfsar

Correct Answer The current and voltage responds
fagae &1 9k

Candldate Answer: The current and voltage responds

G RT 3R
QID : 1132 - What is the condition for the maximum power delivered from a source to its load?

i T oA T | ifipan wida 39 @1 Rufa s 82
Options:
1) Load resistance greater than the source resistance
Frd IRty § 1w e ufeRiy
2) Load resistance less than the source resistance
i UiRIY § $H A uferiy
3) Load resistance equal the source resistance
TRy T UfeRY & SRISR
4) Load resistance less than or equal to the source resistance

i UfeRIY § S A1 ITb SRR s UfaRiy

Correct Answer: Load resistance equal the source resistance

e Uiy A Ul & SRR § :
Candidate Answer: Load resistance less than or equal to the source resistance ( )

id IRy ¥ HH 1 TP SRR 1S U1y

QID : 1133 - A series RC circuit has 5 k-Q resistor and a 2.5 pF capacitor connected across 20 \(500 Hz uppIy Calculate the total impedance and conductive
reactance. N\

éﬂrﬁa%wuﬁmm 3R YaTedIg Y3Eey B 0T B

T Y AR Ffehe H 5 k-Q UfRIY 31K 20 diee, 500 g1 Bt MY & s
Options:

1)

504038 Q and 636620
5040.38 0 HT 636.620
2

;?58.6 0Qand 6350
3758.6 0 AT 6350

3%00.5 0 and 630 O
600.6 O 31T 630Q

4)

2752.5 0 and 626.26 O
2752.5 0 AT 626.26 Q

Correct Answer:
504038 Q and 636.62Q

5040.38 0 # 636.620
Candidate Answer: [ NOT ANSWERED ]

QID : 1134 - The relation between the line voltage and the phase voltage in a delta connected load is given by:

TH STl I3 I H 15 dieee 3R TR dlees & o & datey B U fam S &:
Options:
1) Line voltage > phase voltage

A Fecel> WO Fees
2) Line voltage = phase voltage

A e = WO

3) Line voltage = V3 Phase voltage

A3 dieed = V3 TR dlecsl

4) Line voltage = 1/V3 Phase voltage

e dleed = 1/ V3 IR dees

Correct Answer: Line voltage = phase voltage
A e = WO

Candidate Answer: [ NOT ANSWERED ]
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QID : 1135 - In a balanced star connected power system the line voltage is 480 volts then calculate the phase voltage.

Tgferd wR ¥ 9 figad yoneh # arg dieew 480 diee § @l B diedl Bt TTUAT BIR|
Options:

1) 277.1V

2) 480 V

3)470 v

4) 8313V

Correct Answer: 277.1V
Candidate Answer: [ NOT ANSWERED ]

QID : 1136 - What is the term for the power factor in an RLC series circuit, just below and just above the resonant frequency respectively?

SRUGE e e # JorgaH iy | St 2 3R b W UiR-PRS 71 82
Options:

1) Both lagging

EEIIES

2) Both leading

G S

3) Lagging and leading
i &%1 3

4) Leading and lagging
Y SR Uty

Correct Answer: Leading and lagging

M SR U

Candidate Answer: Lagging and leading
&

QID : 1137 - A star connected network consumes a power of 20 kW with a power factor of 0.8. Calculate the valde of resistance of each coil when a supply voltage
of 230 volts and 50 Hz is supplied between two phases of the network.

TR Y T Acdd 20 fHaiare @t wfd iR Afed-HRe 0.8 BT ITIRT BT g1 230 I, soméaﬁmmmwémﬂimﬁmaﬁ
Options: >

1) 8 ohms f/ \\
8 3| '
2) 1.23 ohms \
1.23 31

3) 1 ohm

1 30|

4) 1.692 ohms
1.692 i

Correct Answer: 1.692 ohms

1.692 &
Candidate Answer: [ NOT ANSWERED ]

N

QID : 1138 - Calculate the impedance, if inductive rea

yfaTeT B UM Y, T ST ufafdhar 100 SiH & SR UicRTY 150 3 1
Options: g
1) 150 ohms

150 3|

2) 141.4 ohms

141.4 379

3) 180.27 ohms

180.27 39

4) 100 ohms

100 3|

Correct Answer: 180.27 ohms

180.27 3iH

Candidate Answer: [ NOT ANSWERED ]

QID : 1139 - Which among the following has SI unit of siemens?

T I 59 1 THerg sTs Ay 82
Options:
1) Conductance

Ydlghtd
2) Inductance

3) Resistance
TieRTe

4) Impedance
EIGEIC
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Correct Answer: Conductance
Ydlgehtd

Candidate Answer: Conductance
Ydlghtd

QID : 1140 - How much electricity is consumed by a 200-watt bulb, when kept ON for at least 8 hours continuously?

g 1 Y HH 8 B¢ F AT 200 TTC FT e Sadl § a9 a1 faeia @ud grir?
Options:

1) 100 watts

100 d@1c

2) 1600 watts per hour

1600 aTe Tfd geT

3) 100 watts per hour

100 @Te Ui der

4) 1 kilo watt hour

1 foa-are fd ger

Correct Answer: 1600 watts per hour
1600 dTe Ufd der

Candidate Answer: 1600 watts per hour
1600 dTC Hfd ger

QID : 1141 - Determine the resolution of a flash type ADC which employs 25 comparators with a reference voltage of 10 volts.

TP WA 3T TSI, o/ 25 qafa @it €, ® Yo o g O U 10 diee &1 T T @ g
Options:
1) 0.625 V

2) 0.656 V
3) 0.3125V

4)0.525V gy, N”
Correct Answer: 0.3125 V f'/ A
Candidate Answer: [ NOT ANSWERED ] \ 1 é

24 w
QID : 1142 - which gate has the highest speed of operation. ‘

5 e § TR &) i g S 82
Options:
1) ECL gate

e

2) Universal gate
3) Logic gate
qd e

4) Both logic and universal gate

Sl dab 3R e e

Correct Answer: ECL gate

Candidate Answer: Both logic and universal gate

T b SR Wi T

QID : 1143 - A full adder combinational circuit has

7 i Tt afbe § |
Options:

1) 3 inputs and 2 outputs

3 3T R 2 fria &

2) 2 inputs and 0 outputs

2 3Td 3R 0 il &

3) 1 input and 0 output

1 3T 3R 0 {

4) 4 inputs and 1 output

4 3T 3R 1 g

Correct Answer: 3 inputs and 2 outputs
3 3T R 2 fria §

Candidate Answer: 3 inputs and 2 outputs
3 3T 3R 2 {
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QID : 1144 - The memory that uses one transistor and one capacitor as a basic memory unit is

IR o7 U Tifoex 3R T TuiRa &1 SuahT U gFardl Al gRic S wud dRarg |
Options:

1) DRAM

IR

2) SRAM

A

3) RAM

ki

4) Both SRAM and DRAM

TIXA 3R 37 g

Correct Answer: DRAM

3=

Candidate Answer: [ NOT ANSWERED ]

QID : 1145 - Which among the following multivibrators is unstable in any state?

fu e Aeifafeest & @ B a1 ecifafaex famdt ot srawn & sifRR 72
Options:
1) Astable multivibrator

2) Bistable multivibrator
fa-RR

3) Monostable multivibrator

4) Both astable and bistable multivibrator

Correct Answer: Astable multivibrator

Candidate Answer: Astable multivibrator

QID: 1146 -

What type of logic circulit is represented
by the given figure below?

e feT 71T HRE ¥ FoRE OXE % 9% diee
=T gfafefeeT i=par Jrar g7

A—{ >o—
5 ——] o—

Options:

1) NOR gate
IR e

2) XNOR gate
T&-AR e
3) AND gate

e
4) OR gate
e

Correct Answer: NOR gate
IR e

ijdidate Answer: NOR gate
AR

QID : 1147 - A 4 bit uniform quantization PCM system can attain a signal ranging from -2 to +2 V. The rms value of the signal is 0.5 V. What is the signal to
quantization noise ratio?

W4ﬁzq§anﬁwﬁﬂmﬁawmm@ﬁw-zﬁ+zaﬁﬁw%mﬁwww%|maﬂ&m@wmo.saﬁc—f%Qﬁa—dsﬁwﬂﬂmﬁaﬂmﬂ?m
SUTT T B

http://thepracticetest.in/cs_imd_17/response_questions.php?t_id=MjIxMTIwMTc=&appid=1368062d74107fc05177712c90c3885¢c 39/53



12/7/2017 Staff Selection Commision

Options:
1) 30 dB
30 Sieft

2) 46.91 dB
46.91 Steit
3) 25.84 dB
25.84 St
4) 40 dB
40 Sr&t

Correct Answer: 25.84 dB
25.84 Siaft

Candidate Answer: [ NOT ANSWERED ]

QID : 1148 - Quantization is a and a/an process.

gRmTofieRor uw 3R uftear g1
Options:

1) Non-linear and irreversible

R 9

2) Linear and irreversible

3) Non-linear and reversible

4) Linear and reversible

@ SR uferadf

Correct Answer: Non-linear and irreversible

Candidate Answer: Non-linear and irreversible

R iR

QID : 1149 - If the current flowing in the antenna is 17 A which radiates a signal of power 15.0(3%7\/‘, { eﬁ‘Wﬁat will be the radiation resistance (in ohms) of the
antenna?

%ﬁi\mﬁéu (31 #) 1 8RR

-

3R U= & et fagad 4RT 17 A B 9 15.028 fhalidTe 3t 2fdd &1 Tbd <ar 8, o

<

1) 3.2
the antenna current of the transmitter when the percent of modulation changes to 0.4.

4 ¥ goadr g a9 T 3 fagaq uwT Fafa a1

2)5.2
3) 32

4) 52
Correct Answer: 52 \
Candidate Answer: [ NOT ANSWERED ] ©

QID : 1150 - The antenna current of an AM transmitt:

T TiHieR % T fagad T 6 A €1 AIGEIRI @I Uil
Options: ¢
1)9.19A

2) 7.56 A
3)6.23 A

4)991 A
Correct Answer: 6.23 A
Candidate Answer: [ NOT ANSWERED ]

QID : 1151 - Calculate the speed capacity of the channel (in Mbps) when the TV picture is transmitted over a channel of with 25 dB S/N ratio.

A I T T (T o) 3 70T B O S o 25 el T / T 3uTd are Sd IR ORI
Options:

1) 72 Mbps

72

2) 27 Mbps

27

3) 92 Mbps

92

4) 74.4 Mbps

74.4

Correct Answer: 74.4 Mbps
74.4
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Candidate Answer: [ NOT ANSWERED ]

QID : 1152 - In delta modulation system, the granular noise is produced by which of the following?

SeeT ATgARH R #, aMeR R A # § 5w grr Afifa giar 22
Options:

1) Pulse rate decrease

T R | Bt

2) Pulse amplitude decreases

U ST | S

32 Modulating signals increase

4) Modulating Signals remains constant
I il RR TgaT &
Correct Answer: Modulating Signals remains constant
TS Johat FRR Yga1 §
Candidate Answer: [ NOT ANSWERED ]

QID : 1153 - Which among the following transmits the data samples over a single channel?

fufafed & § $1F I U6 Id |R ST & TG e HRa g2
Options:
1) TDM

2) FDM

THSITH

3) PCM

Uit

4)PTM
gidTy

Correct Answer: TDM

Candidate Answer: [ NOT ANSWERED ] f/ \ -

QID : 1154 - Which signal is generated by using a mono stable multivibrator?

B I Gbd T AN FRR AcIdigex o1 ITTI B IO 8idl 22
Options:
1) PCM

ik
2) TDM
3) PAM
e

4) PWM

\

Correct Answer: PCM

Candidate Answer: [ NOT ANSWERED ]

QID : 1155 - Which filter is used to detect the PAM signal?

iues Hard &1 Udl T & o 5 freeR o1 SuiT fasan e 82
Options:
1) Low pass filter
U flheeR
2) High pass filter
I U flheex
3) Band pass filter
s U flhee?
4) All band pass filter
Tt ¥ U fireer

Correct Answer: Low pass filter
U flheeR

Candidate Answer: Low pass filter
@ I e

QID : 1156 - Find the 2's compliment of a 8 bit number that is represented as 28 in decimal number system.

T 8 e T & 2 R BT Ul T S SRMAd G guat & 28 & T & =it S 7
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Options:
1) 11010110

2) 11100100
3) 00011101

4) 11100010
Correct Answer: 11100100
Candidate Answer: 11100100

QID : 1157 - Pilot carrier in SSB modulation is used for

T ATgARM ¥ Urde 918 & o ot SuanT {35 ST @
Options:
1) To provide better noise immunity
YER AR IHH T H & g
2) Low power consumption
A forerelt Bt @ud
3) Frequency stability
RRar

4) Reduction of carrier frequency

qTED MR H Bt

Correct Answer: Frequency stability

Smgfy R

Candidate Answer: Reduction of carrier frequency

qEH SMafa & FHHt

QID : 1158 - FSK modulation is mostly applied in ( )
g e Foita (FSK) TSR &1 Tad i JUGRT Bel fbaT Sl 3 -\
Options: ( 3

1) Telegraphy

i

2) Fiber pransmission line
IR SRR drs

3) Waveguide

\

4) Tuned circuit
=T Hidhe

Correct Answer: Telegraphy

Candidate Answer: Waveguide

QID : 1159 - Pre- emphasis circuit in FM transmitter |

THTH CiaHieR & M-unhRg uRuy &1 3]
Options:

1) to increase the bandwidth of the side band.
RS IS P SSfagy B dgM P T fear ST 3
2) to improve the signal to noise ratio at low audio frequencies.

®Y 3ffSa sngfrdl R Tobd 3R TR & U B! JURA & forg fpa e g

3) to improve the signal to noise ratio at high audio frequencies.

I offfear egfat IR Whd IR TR & SUTd &1 GYRA & oy famam s )
4) to increase the carrier power.

e T I P forg o e 3]

Correct Answer: to improve the signal to noise ratio at high audio frequencies.
I 3ifEa gt W T SR R & U I GURA & forg 3o S g
Candidate Answer: to increase the carrier power.

e QiR g & forw fbar & g
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QID : 1160 - Arrange the following components sequentially from the output to input in a super heterodyne receiver.

i. Antenna

ii. IF amplifier

jii. Mixer

iv. Audio amplifier

TP R geRisrEA Refier # fefd & 57qe & forg Frafefed aea! 1 sres w0 9 safd a1

i G

ii 378 T% THITHRR
iii TR

iv 3fifSaY UfRThTR
Options:

1) i, ii, iii and iv

i, i, i 3R iv

iv, iii, ii i
3) i, iii, iv and ii
i, iii, iv 3R i
4) iv, ii, iii, and i

iv, ii, iii, i

QID : 1161 - The auto correction function of white noise is represented as

e TR & 3l GUR TARIE &1 il foar waT 3
Options:
1) uniform
TS 99
2) delta

3) gaussian

4) non-uniform
SITH

Correct Answer: delta

Candidate Answer: gaussian

QID : 1162 - Optical fiber operates in

3P BIEeR by W = 8l 3
Options:
1) Visible light band
b
2) Ultraviolet band

3) Infra red band

RAT ¥

4) Ultraviolet, visible and infrared band

Correct Answer: Ultraviolet, visible and infrared band
Candidate Answer: [ NOT ANSWERED ]

QID : 1163 - The output of source encoder is
A TbleR &1 Ffad & g

Options:
1) An anialog signal
T T Regret
2) Sequence of binary digits
TR 3 BT 3
3) A digital signal
TH
4) A triangular wave
T
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Correct Answer: Sequence of binary digits
TR 3P BT HA
Candidate Answer: An analog signal

T T R

Staff Selection Commision

QID : 1164 - In a parallel RL circuit, the current always the applied voltage.

JHFIR ARUA TRy H, fagad 4RT A dedst

Options:

1) leads

I o EAr ¥

2) lags

ERERGUN

3) remains in phase with

F Y Bl B 8T ¥

4) None of these

TH A P13 T

Correct Answer: lags

B ERGCIE

Candidate Answer: leads
KIORGHIE

QID : 1165 - Which modulator is used for the generation of DSB-SC signal?

Suget-uah Yda & i & R S a1 AfgeeR U T S 82

Options:
1) Balanced modulator

2) Square Law modulator

1l HIA AgAR

3) Armstrong phase modulator
ST TR0 AigaieR

4) Envelope detector

TAddy

Correct Answer: Balanced modulator

Candidate Answer: Envelope detector
ey f$caex

QID : 1166 - What is the frequency range of VHF in electroma

fogaa gl quiey # duaut 3 Smahy ¥

Options:

1) 30 MHz to 300 MHz
2) 3 GHz to 30 GHz
3) 30 GHz to 300 GHz

4) 3 MHz to 30 MHz
Correct Answer: 30 MHz to 300 MHz
Candidate Answer: 3 GHz to 30 GHz

\

QID : 1167 - Waveguides are employed as a transmission lines for propagation of

IS P TR & o U TeRvl d1s & U H HRRd &

Options:

1) Analog signals
TGN Tobd & )
2) Digital signals
feforea dobd & fam)
3) Line signals

g Tobd & fom)

4) Microwave signals

TTShIad Hobd & forg|

Correct Answer: Microwave signals
i ferg|

Candidate Answer: Microwave signals

HISehIdd Tobd & forg)
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QID : 1168 - What is the frequency range of UHF signals?

qUEEE Hobdl 1 SRy IS 7 82
Options:
1) 3 MHz to 30 MHz

2) 25 MHz to 3 GHz
3) 300 MHz to 3 GHz

4) 300 kHz to 3 MHz
Correct Answer: 300 MHz to 3 GHz
Candidate Answer: 300 kHz to 3 MHz

QID : 1169 - What is the function of transmitter in the communication system?

TR YTt B gietex &1 3 1 82
Options:
1) Provides the information
SFSR UeH HRal §
2) Processes the information
' HRATE
3) Modulates the signal
Thd i TR &
4) Rectify the input signal
Thd B JUR
Correct Answer: Processes the information
i AT
Candidate Answer: Processes the information
T Far §

QID : 1170 - Noise is measured in

AR_ AW @l
Options:
1) Decibel

2) Mel
ad

3) Phon
B

4) Zone
Correct Answer: Decibel

Candidate Answer: Decibel

QID : 1171 - Correlation receiver and phase locked loop are used in

ey e 3R =R & U & QU fbar o B
Options:
1) FSK reception.
e

2) PSK reception.
Uiras RAwH
3) ASK reception.

=
4) both ASK and PSK.
Sl TuEs TS diges

Correct Answer: FSK reception.

Candidate Answer: both ASK and PSK.

S TeES US diwas
QID : 1172 - Which of the following modulating techniques requires minimum bandwidth?

9 & I B9 1 AegRfeT adHie gad Jefagy &1 saxadwma 32
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Options:
1) Delta modulation

2) PCM

et

3) PAM

4) DPCM
Correct Answer: Delta modulation

Candidate Answer: PAM

QID : 1173 - Which of the following is not used for the demodulation of SSB?

T & fEuiegRE & fore A & | o1 91 3T e fobar e 82
Options:
1) Product demodulator
Jare f&aT
2) Diode balanced modulator
g
3) Complete phase shift generator
quf ROy
4) Bipolar transistor balvanced modulator

gt giftrex

Correct Answer: Bipolar transistor balanced modulator
gyt Tifvrex dfera Aigaex

Candidate Answer: Product demodulator

Iarg f&HT

AR
QID : 1174 - Which of the following block is not present in AM but present in FM receivers? ( >
e & A B o1 it qoA  wioe e 2, e qed RefiR & e 22 (’ )

Options:

1) RF amplifier -
3RTH

2) Slope detector

3) IF amplifier
4) Mixer
R

Correct Answer: Slope detector

RSIERILIN

Candidate Answer: IF amplifier

QID : 1175 - Attenuation per unit length in a coaxial cable with frequency, .

3mafr F W UF e e FuR gfe e H Al 1
Options:
1) Increases

2) Decreases

FH B I 7

3) Remains constant
RR®AE

4) Becomes Zero

SIRY 81 S &

Correct Answer: Increases

Candidate Answer: Increases

QID : 1176 - Nyquist interval rate for the signal x(t) = cos ¢ (2000 t) + cos c (500 t), is.

Tdhd x(t) = cos ¢ (2000 t) + cos ¢ (500 t) & oY Yfdbe favTa & gl
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Options:

1) 700 Hz

700 B

2) 1400 Hz

1400 g¢S

3) 4 kHz

4 Tl gée

4) 5 kHz

5 fopal ge

Correct Answer: 4 kHz
4 e gés

Candidate Answer: 5 kHz
5 fore gdot

QID : 1177 - Which of these are the digital modulation techniques?

T Q B A f3fed dregee deiid 82
Options:

1) ASK

Lpreey

2) PAM

fotm

3) FM

TBlH

4) PCM
Correct Answer: PCM

Candidate Answer: ASK

QID : 1178 - Which of the following is NOT correct when referring to AM and FM?

Frafeied § 3 1 a1 3 ok TeuH & ey F e T 82
Options:

1) FM is more susceptible to noise as compared to AM
TUH &1 ol # THUH R & fog sifer

2) AM can transmit at longer distance as compared to FM.
TUH THUH &1 goT & dell gl TR Gaid &R Tl ©

3) Phase remains constant in AM.

RO TUH § fRR @1 8

4) FM signal has higher bandwidth than AM
THUH Tohd W YA BT g & ifie Sefagy
Correct Answer: AM can transmit at longer di
TUH THUH &I g1 & del gl IR IA=Rd a8
Candidate Answer: AM can transmit at longer distan

TUH UHUH &1 JaT | et gl IR TR Be el o

QID : 1179 - Which local oscillator is used in radio receiver?

A iR & B 1 =g 3fifieier IuEeT e il 62
Options:
1) Crystal oscillator

2) Hartley oscillator

3) RC-phase shift oscillator
SR et Re 3RRdeR
4) Wein-bridge oscillator
F-foet 3RfdraieR

Correct Answer: Hartley oscillator

Candidate Answer: [ NOT ANSWERED ]

QID : 1180 - Audio and video signal in the television broadcast is done by
efifae gaRor F offear ok difgar dad BRI YR {5 ST 1
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Options:
1) Amplitude and Frequency modulation
K ioja) It
2) Phase and amplitude modulation
ol 3R 3y A
3) Frequency and angle modulation

e S

4) Both by frequency modulation

HISgAR gRT Gt
Correct Answer: Amplitude and Frequency modulation
Koo IE

Candidate Answer: [ NOT ANSWERED ]

QID : 1181 - Which among the following is/are the advantages of digital communication?

i #  $ O@ Sfed R & B @2
Options:

1) Simple multiplexing

TR FefRIT

2) Reliable

fayeg

3) Easy processing and signaling

S i Fad

4) All of the these

9 § Ift

Correct Answer: All of the these
F & bt

Candidate Answer: All of the these

ESEREH]

QID : 1182 - Which among the given expressions is the Product of Sum form?

<& g 3ftyeafad § B T 9 &1 IdTE 82
Options:
1) (b+c)(a+b)

2) ac-bd
3) ab+cd

4) ab(cd)
Correct Answer: (b+c)(a+b)
Candidate Answer: (b+c)(a+b)

QID : 1183 - The distributive law of Boole?n algeb:

SR s R o  der T o
Options:
1)

AB+AB

2)

(A4B)C = A(BC)

3)
A+(BC)=(A+B)(4+C)

4)
AB =RB4A

Correct Answer:
A+(BC)=(4+B)(4+C)

Candidate Answer:
A+(BC)=(4+B)(4+C)

QID : 1184 - The Boolean expression AB + ABC equals.

qorg 3ifieafad AB + ABC & sRTsR g
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Options:
1) BC

2) ABC
3) AB + BC

4) AB
Correct Answer: AB
Candidate Answer: ABC

QID : 1185 -
if a wave with E=10e"""""a vim is
travelling in the free space, then the
magnetic field intensity (in A/m)is

R v T E=10e"""""a vim @
B WA H @M E a g

&7 & drgar (A/m #H) g
Options:
1)
f=_1 gltees) (3,)
107
2)
= 1 fofe-pr) ; a
B, 7. i
1 L ( ax]
3)
- 1 jfettsgy),n
H=—— ;
107 (%)
4)
- 1 _iett-pr) s
H=——=e a
127 (&)
Correct Answer:
- 1 _iett-pgr) s
H=—=e a
127 ()

Candidate Answer: [ NOT ANSWERED ]

QID : 1186 - Calculate the baud rate of the ASK sig

TS Yohd Bi a1 R BT 70T B o 300 iy 3 fae a2 gl 1
Options:

1) 100

2) 250

3) 300

4)75

Correct Answer: 300

Candidate Answer: [ NOT ANSWERED ]

QID : 1187 - Which among the following are the advantages of Yagi antenna?
i. It has gain to allow lower strength

ii. The antenna becomes strong for high gain levels

iii. It can be easily mounted

iv. It is mechanically relatively straight forward.

Frofeiad 3 arft =1 & wae @ 8

i, B Qe BT AR 37 F faw susT Ay 8
i, GO S WY TRT b fo7Q HoTed gl ol ©
iii. 39 A | AT BT S Ybal §

iv. T8 Tifie ¥ § 3eTehd Td 8
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Options:
1) i, iii and iv
i, iii iv
2)i,iiand iv
i, ii iv
ii, iii iv
4) Only ii

ii
Correct Answer: i, iii and iv
i, iii 3 iv
Candidate Answer: [ NOT ANSWERED ]

QID : 1188 - The propagation of radio wave signals through reflection from ionosphere is known as

SABR  ufafde & mrerm I Y a7 bdl b TR B FEd 8
Options:
1) Sky wave propagation
SHTHIRT ¢lgr TR
2) Ground wave propagation
IS X TR
3) Space wave propagation
99 TR
4) Tropospheric wave propagation
SRR TR TR
Correct Answer: Sky wave propagation
S{THIRT Ter TR
Candidate Answer: [ NOT ANSWERED ]

QID : 1189 - Which array uses two half wave dipoles spaced along with one-half wavelength apart?, . !
B O TRl T ST TR S P HIY-TY {THT-S{THT &l ST TN BT JUTRT PHRall 72 (

Options:
1) Broad-end array f/

2) End-fire array

US-TRR TR0

3) Back-fire array

IBH-BR

4) Binomial array

feritirsm avoft

Correct Answer: End-fire array
Candidate Answer: [ NOT ANSWERED ] =

\r’y

QID : 1190 - Broadside antenna array is

Siearss T wult upfa & TAR__ ATl
Options: f
1) Unidirectional and low
3R Y
2) Multidirectional and very low
TG 3R Tgd HH
3) Bidirectional and high
fefew iR 3=

4) Both unidirectional and multidirectional
S faRmele ok Tgamand

Correct Answer: Bidirectional and high
fefew iR 3=

Candidate Answer: Multidirectional and very low

gmand 3R Igd HH

QID : 1191 - What is the maximum distance up to which the TV transmission can be received if the height of a TV broadcasting tower is 85 meter ? (Radius of
earth = 6,400,000 m)

85 Hiex & dIdl TlaR BT SHars W SHfaw AT TR 37 U 81 Gehal 87 (Y BT 35491 = 6,400,000 meter
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Options:
1) 62 km
62 fo. .
2) 31 km
31 fp.o.
3) 32.98 km
32.98 . 7.
4) 30 km
30 fm. 7.

Correct Answer: 32.98 km

32.98 ..
Candidate Answer: [ NOT ANSWERED ]

QID : 1192 - Calculate the radiation resistance of an antenna of length A/8 m ( A is the wavelength).

TS Bt TS A/ 8 T § dl T & fafesvur uferiy @t o Y (A o < 7))
Options:

1) 10

2)8

3)12.33

4)12.8

Correct Answer: 12.33

Candidate Answer: 8

QID : 1193 - In which of the following the phase of the carrier wave changes in accordance with intensity o Iight.{

FEfiad & § $H 91 a6F dex & IRU1 H YT Bt diadl & SFER uRad gidr 8|
Options:
1) AM
w™
2)PM
foew
3)FM
ThTH

4) PAM

fageH

Correct Answer: PM

Candidate Answer: PM

QID : 1194 - VSB modulation is termed as

fegS ATSgATI S @I o g
Options: 7
1) Vestigial side band
BIEEEES
2) Vertical side band
Ifoa uge I
3) Single side-band
et wrgE S
4) Variable side band
IRusw wES I
Correct Answer: Vestigial side band
BIEEEES
Candidate Answer: Vestigial side band
Ifefoma gs o8

QID : 1195 - Which of the following is/are the advantages of DSB-SC over SSB-SC?

1. It has lower power consumption

1. It needs half of the bandwidth

II1. It is used for transmitting stereo information
1IV. It has two side bands with no carrier

TIU-TR R Siege-Tedt & 9 # ¥ o 91 A1 g/8?

1.39%! oY fowe @ud §

I1. 39 Sefagy ot ot e B sawghdr ¥

111. I8 IR SHeR) T B3 & for IuanT far s &
1v. SUH P13 a6 ardl &1 USS oS el §
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Options:
1) Ionly
1 %ad
2) LII and IV
ISR IV
3) LIl and IV
I, III 3R IV
4) 11 only

1I

Correct Answer: LIII and IV
I, III 3R 1V

Candidate Answer: I,II and IV
L II3R IV

QID : 1196 - What is the main advantage of parabolic antenna?

RAARS YT PTG AH FT 32
Options:

1) High directivity

I femm-fde

2) wide bandwidth

fowga Sefagy

3) small wavelength

Bl T &

4) low directivity

FH fe=n-Fdy

Correct Answer: High directivity
I femm-fdwr

Candidate Answer: High directivity

I fexm-fAdw

QID : 1197 - For an amplitude modulated wave, he maximum amplitude is found to be 20 V while the\a‘vimum amplitude to be 4.5 V. Calculate the modulation
index. - Q g

TH M HISgaes R & i, siftiesdm mamy 20 v Ur St § wiaies gAay
Options:
1) 0.62

2) 0.67
3)0.26

4) 0.632
Correct Answer: 0.632 A
Candidate Answer: [ NOT ANSWERED ]

QID : 1198 - Modulation index is generally: kept.

WG GIDIH AHAR W 3T ofrell &
Options:

1) Less than 1

19%9

2) Greater than 1

1 e

3) Equal to 1

1F RN

4) Zero

RS

Correct Answer: Less than 1
1359

Candidate Answer: Less than 1
1351

QID : 1199 - Which of the following modulations has higher bandwidth among the others?

g & ¥ H 1 Aiegazd R & §9 F i dSfigy SXame &R 87
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Options:
1) PCM
ik
2) DM
A

3) ADM
LSl

4) DPCM
Correct Answer: PCM

Candidate Answer: DPCM

QID : 1200 - Encoding technique is selected on the basis of

i. Efficiency
ii. Error
iii. Power level

THIST Th-Ip P MYR W TG b ST §

ii.
iii. IR
Options:
1) Only i

i
2) Only ii

ii
3) Only iii

iii
4) i, i and iii
i, ii iii
Correct Answer: i, ii and iii
i, i 3R jii
Candidate Answer: i, ii and iii

i ii 3 i
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